
 

EXERCICES  

A 

On se place dans un repère orthonormé (O,I ,J ) d’unité 1 cm. Construire dans le repère les droites (d1) 
(d2) (d3) (d4) et (d5) sachant que : 

1°) (d1) : y =5x + 3  

2°) (d2) : : y =-2x + 4  

3°) (d3) : : y =0.25x – 3  

4°) (d4) : : y + 2 =0  

5°) (d5) : : y =3x    

…………………………………………………………………………………………… 

B 

On se place dans un repère orthonormé (O,I ,J ) d’unité 1 cm. Construire dans le repère les droites (d1) 
(d2) (d3) (d4) et (d5) sachant que : 

1°) (d1) : y = 5x – 4   

2°) (d2) :  y =- 4x + 2  

3°) (d3) :  y = 1.25x + 5  

4°) (d4) : y + 5 =0  

5°) (d5) :  y =4x   

  


